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CH-02
December - Examination 2018
B.Sc. Pt. | Examination
Organic Chemistry

Paper - CH-02

Time : 3 Hours ] [ Max. Marks :- 50

Note: The question paper is divided into three sections A, B and C. Write
answers as per the given instructions.

fAder: I8 ueT uF 9 @uel ‘o', ‘T &R ' H i g1 uded
U & FGLTTAR el & IR G|

Section - A 10X1=10
(Very Short Answer Type Questions)

Note: Answer all Questions. As per the nature of the question delimit
your answer in one word, one sentence or maximum up to 30
words. Each question carries 1 mark.

gus - ‘3’
(3fcr ofg ITRIT UL )
fAder : Al el & IR ST MY 370 IR Pl YR T 90eg,

T e T Jfehad 30 reai | gRRAfaT hifo| U 9T
1 3T P gl

1) (1) Whatis Walden inversion?

gTes Tdo— &7 8 ?
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(i) Arrange isopropyl, methyl, allyl, tertiary butyl carbonium ion in

the increasing order of their stability.

A, Afdet, gferer, oo sgfeet wifRT Sia @
$7eh! TATRICIAT gt &Y shH H IafRyd Hifviv|

(ii1) Which type of isomerism is shown by Maleic acid and Fumaric
acid?

Aot 3Fdl g FIHRS 3t DI FHEIEA! ST g 2

(iv) Give name of the compound having molecular formula C.H ,
which gives 3 monohalogen derivatives.
39 IfiIeh T T TSy, FSTAepT SR C.H | &1 a1 ST o=

57712
g goll IUIS 1T & ?

(v) Write chair and boat conformation of cyclohexane.
ATSTAgaAd BT AT g Haif FwHyur forlRay|
(vi) What is cummulative diene?

FIHCICT SISsT T gt ¢ 2

(vii) What is the monomer of orlon?

IR BT Tholdh ShTS FAT g 2

(viii)What is Huckle (un+2) = rule?
Bl (un+2) ~ BT T T g2

(ix) Give Wurtz - fitting reaction.
gdoT-fthfcn arfrfehar ferRau)
(x) What is Birch reduction?
o T T B ?
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Section - B 4X5=20
(Short Answer Type Questions)

Note: Answer any four question. Each answer should not exceed 200

words. Each question carries 5 marks.

(Tvs - 9)
(o7 ITRIT UeA)

fAader: forrgl IR U9l & SR <IN 3T 304 IR Dl 31ferepad

2)

3)

4)

5)

6)

7)

200 ereqi H uRHAIHT BTG U UeT 5 37! @ 2
What do you mean by erythreo and threo pair? Explain with examples.

SRR g A1 g™ A 319 T FHe 2 2 STk GRT AHETSU|

Give Newmann projection formula of propane.

IO T =IHT Haau g SR

Write all structural isomers of alkane having molecular formula
CH,,. Give their [IUPAC names also.

C H,, 3 dTel Tocb b Tl AReTcHSD FHagd! foRaw| I
T TUPAC ¥t SISt

Explain hydroboration in detail and prepare 1-propanol by this
method.

FISSISNIGRUT T R | FHA1SY iR 3ot fafr gRT 1 - WU
SIS |

Give the energy level diagram of 7x molecular orbital of 1, 3 butadine.
1,3 SCIBIET B ~ M.O BT ol TR IRG A

CCl, is non polar while CHCI, is polar, why?

CC1, 3G 8, STafp CHCL, geila 81 & ?
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8) Give Balz Schiemann reaction.

ESNEIERCIE PRSI

9) Explain the following with chemical equation and appropriate
examples.
ferferRad ol TR THieeul g IFd SSERuT gRT 98Ul
(i) One reaction in which anhydrous AICI, is used as a catalyst
U ffehar R Fistel AICI, T SRS & wU H B
T gl
(i1) Nitration of benzene.

A T ATSS IR

Section - C 2%X10=20
(Long Answer Type Questions)

Note: Answer any two questions. You have to delimit your each answer
maximum upto 500 words. Each question carries 10 marks.

(Tvs - ¥)
(Sref TR ¥ed)
fAder : el QF U9l & IR SIRTYI 3 IR 31frad 500 9reg) |
R HITTI g 9T 10 3T BT 2l

10) What do you mean by addition reactions? How many types of

addition reactions are there? Give one example with mechanism.

IR JMFAfRITRT A 31T 9T 93T & 2 A et TpR &l g
27 U Igrenvl feharfafdr wafga vl
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12)
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Describe the mechanism of E, and E, reactions of alkyl halides with
one suitable example in each case.
Ufehet gegs dY E, d E, 31fforar &t framfafy @ ude @1 e
S ISTER &l g FHEATU

Give difference between

fr=feRaa & @ sFR 8?

(i) Meso and racemic mixture
CIRIRCRSIECR |

(i1)) Absolute and relative configuration

|mer g fFRuer o=

Explain transition state, activated complex and activation energy on
the basis of energy profile diagram.

SISHHT STIRT, SAfhaIT e g HIhIUT Hrofl bl Froll TIEEsTa
3N GRT A=A
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